PLANT ENTERPRISES PRODUCTION						
	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
COTTON						
Lint - Irrigated		20,000.0	950.00	19,000,000	lbs.	\$10,450,000
Lint - Non-irrigated		38,475.5	850.00	32,704,175	lbs.	\$17,987,296
Seed - Irrigated		20,000.0	1,520.00	30,400,000	lbs.	\$1,520,000
Seed - Non-irrigated		38,475.5	1,360.00	52,326,680	lbs.	\$2,616,334
Cotton (Total)	240	58,475.5				\$32,573,630
FORESTRY						
Pulpwood						
Hardwood				7,442	cords	
Pulpwood (Total)				7,442		
Saw Timber						
Hardwood				1,052,684	board feet	
Saw Timber (Total)				1,052,684		
Total Pulpwood, Chip & Saw,						\$959,184
Saw Timber FOB Mill						
Total Forestry Stumpage						\$436,120
Forestry Seedlings	*			75,000	seedlings	\$2,625
					(1,000)	\$ 0.61.000
Forestry (Total)						\$961,809
FRUITS		- 0	250.00	1.050	• .	¢1.050
Blackberries	*	5.0	250.00	1,250	1	\$1,250
Peaches	*	2.0	100.00	200	bu.	\$6,000
Fruits (Total)		7.0				\$7,250
FEED GRAINS	240	(()) 5 1	125.00	0.052.000	1	\$20,225,226
Corn	240	66,325.1	135.00	8,953,888		\$20,325,326
Grain Sorghum	35 *	3,401.5	35.00	119,052		\$429,778
Oats	*	15.2	60.00	912	bu.	\$1,569
Feed Grains (Total)		69,741.8				\$20,756,672

Page 1 of 5

PLANT ENTERPRISES PRODUCTION						
Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
HAY FOR SALE						
Grass	*	200.0	20.00	4,000	tons	\$200,000
Hay for Sale (Total)		200.0				\$200,000
HOME GARDENS	1,250					\$375,000
PECANS						
Improved	*	600.0	280.00	168,000	lbs.	\$218,400
Native	12	50.0	100.00	5,000	lbs.	\$5,000
Pecans (Total)		650.0				\$223,400
RICE	6	7,411.6	66.60	493,612	cwt.	\$3,948,896
SOYBEANS	300	70,232.4	40.00	2,809,296	bu.	\$17,445,728
VEGETABLES		,		· · ·		
Southern Peas (Fresh)	10	5.0	100.00	500	bu. (24 lbs.)	\$12,500
Vegetables (Total)		5.0			× ,	\$12,500
WHEAT	35	3,046.3	40.00	121,852	bu.	\$396,019
TOTAL ALL PLANT ENTR	ERPRISES	-,		,		\$76,900,905

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION							
Fisheries	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value	
FRESHWATER FISHERIES Freshwater Finfish ** Freshwater Fisheries (Total)	30				lbs.		
FUR ANIMALS					pelts	\$3,156	
ALLIGATORS (WILD) HUNTING LEASES				487	ft.	\$10,238	
Waterfowl	30	800	No. Acres Leased		acre	\$40,000	
All Other Game	175	100,000	No. Acres Leased		acre	\$550,000	
Hunting Leases (Total)						\$590,000	
HONEY	*	80	No. Hives	8,800	lbs.	\$6,512	
TOTAL ALL FISHERIES & V	WILDLIFE ENTERPRISES					\$609,906	

** The marine, freshwater and oyster data presented here are for the year 2003 rather than 2004. Release of fisheries landings data by the collecting agencies occurs 4-5 months after the fact. Another reporting system was used in previous years, so this year's data are not directly comparable to that of previous years.

ANIMAL ENTERPRISES PRODUCTION						
Animal	Number of Producers	Units of Production		Total Production	Units of Measure	Gross Farm Value
CATTLE & CALVES						
Steer Calves						
300-400 lbs.					head	\$177,156
400-500 lbs.				400	head	\$201,924
500-600 lbs.					head	\$83,861
600-700 lbs.				50	head	\$31,850
Steer Calves (Total)						\$494,791
Heifer Calves						
300-400 lbs.					head	\$100,791
400-500 lbs.					head	\$116,269
500-600 lbs.					head	\$105,567
600-700 lbs.				100	head	\$59,800
Heifer Calves (Total)						\$382,427
Yearling Cattle						
600-700 lbs.					head	\$95,550
700-800 lbs.				150	head	\$103,500
Yearling Cattle (Total)						\$199,050
Cow-Calf Pairs					pair	\$142,500
Cull Cows					head	\$41,064
Cull Bulls				25	head	\$22,961
Cattle & Calves (Total)	20	1,500 No.	Cows			\$1,282,793
HORSES						
Brood Mares						
Show Horses	10		Brood Mares		head	\$35,000
Recreation Horses	45	50 No.	Brood Mares	30	head	\$45,000
Brood Mares (Total)						\$80,000
Stud Fees						
Show Horses		10 No.	Stallions	25	mares bred	\$37,500
						Dece 1 of 5

ANIMAL ENTERPRISES BRADUCTION

Page 4 of 5

ANIMAL ENTERPRISES PRODUCTION						
Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value	
HORSES						
Recreation Horses		45 No. Stallions	100	mares bred	\$20,000	
Stud Fees (Total)					\$57,500	
Show Horses	10		30	head	\$120,000	
Recreation Horses	60		120	head	\$180,000	
Horses (Total)					\$437,500	
GOATS						
Show Goats			30	head	\$5,550	
Slaughter Goats			90	head	\$9,450	
Stocker Goats			40	head	\$3,400	
Cull Goats			30	head	\$1,800	
Goats (Total)	15	150 No. Does			\$20,200	
EXOTIC ANIMALS						
Deer/Antelope	*	20 No. Animals	20	head	\$2,500	
Llama	*	2 No. Animals		head		
Exotic Animals (Total)					\$2,500	
TOTAL ALL ANIMAL EN	NTERPRISES				\$1,742,993	
MADISON PARISH T	OTAL				\$79,253,803	